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Guess Paper – 2008
Class – X

Subject – Mathematics

M.M.80











TIME: 3HRS.

General Instructions :
· All questions are compulsory.

· The question paper consists of 30 questions divided into four sections A, B, C and D. Section A contains 10 questions of 1 mark each, Section B is of 5 questions of 2 marks each, Section C contains 10 questions of 3 marks each and Section D is of 5 questions of 6 marks each.

· There is no overall choice. 

· In question on construction, the drawing should be neat and exactly as per the given measurements.

· Use of calculator is not permitted, however you can ask for the logarithm table.
· No credit will be given for cutting, scribbling in section A  
----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
SECTION A

1. The system of linear equations 2x + 5y = k, k x + 15y =18 has infinitely many solutions, value of k is:                                                                                                                                                                          (a) 
3    
(b) 6    

(c) 9    

(d) 18 

(e) None of these
2.  If the areas of two triangles 
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ABC and 
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DEF are 64 cm2 and 121 cm2. If EF =13.2 cm. Then BC is: 

  (a)  9.6    
  (b) 6.6    
(c) 8.6     
(d) 7.6  

 (e) None of these
3.
 A die is tossed once. The probability of getting a number divisible by 3 is:                                                                                                                                                                                                                                                                    
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  (e) None of these
4. 
If the roots of the equation 
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are equal then the value of k    is:  
 (a) 
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  (b) 24    
(c)  -2      
(d) -3  

 (e) None of these
5. 
Which of the following is not a quadratic equation?
(a)
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 (e) None of these
6.
 The number of terms between 12 to 99, divisible by 3 are:

       
(a) 30   

(b) 29    

(c) 31     
(d) 40  


 (e) None of these
7. 
 If the volume of a cube is 1728 cm3, the length of its edge is equal to:

      
 (a) 12 cm   
(b) 14 cm   
 (c) 16 cm     
 (d) 24 cm

 (e) None of these
       8. 
The mean of 20 numbers is 15. If each number is multiplied by 7, then the new mean is: 

       
 (a) 
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(b) 75    

(c) 105 

 (d) 22  


 (e) None of these
       9.
 If E be an event such that P (E) =
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, then P (not E) is equal to:
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(d) 2



 (e) None of these
   10. 
If  
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 then x + y is equal to:
        
(a) 2     
(b) 3    

  (c) 1     
(d) 0.5   



(e) None of these

SECTION B

11.  Evaluate: 
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12.  Use Euclid’s algorithm to find the H.C.F of 135 and 225.

13. How many balls, each of radiuses 0.5 cm, can be made from a solid sphere of radius 10 cm by melting the sphere?

14. If A, B, and are interior angles of a triangle ABC, then show that sin[image: image17.png]



15. Two tangent segments PA and PB are drawn to circle with centre O such that (APB = 120o.Prove OP = 2AP

SECTION C
16. Solve    ax + by = 1        :    bx + ay = 
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17. Construct a cyclic quadrilateral ABCD AB = 3cm, BC = 6cm, CA = 4cm and AD = 2cm. Also construct a quadrilateral similar to ABCD whose sides are 1.5 times corresponding sides of ABCD.

18. If “h” “c” and “V” respectively are the height, the curved surface area and the volume of a cone, prove 

  3(Vh3 –c2h2 +9V2=0

19. The ages of the students of a class are in A.P. whose common difference is 4 months. If the youngest boy is 8 years and the sum of ages of all the students of the class is 168 years. Find the number of students in the class.
20.  Prove that 
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21. If a flight of 600km a plane was slowed down due   to bad weather. Its average speed for the trip was reduced by 200 km/hr & time increased by one & half an hour. What was the actual time of flight?
22. QR is a tangent at Q to a circle whose centre is P. PR (( AQ where AQ is a chord through A, the end point of the diameter AB. Prove that BR is tangent at B.

23. Water is flowing @ 5 km/hr through a pipe of diameter 14cm into a rectangular tank which is 50 m long and 44m wide. Determine the time in which the level of water in the tank will rise by 7cm.

24. Prove that the co ordinates of  the centroid of ∆ABC, with vertices A(x1,y1), B(x2,y2) and C(x3,y3) are given by 
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25. 
[image: image21]DEFG is a square and ∟BAC is right angle. Prove that DE2=BD.EC
                                                      SECTION D

26. After covering a distance of 30km with a uniform speed there is some defect in the train engine and therefore its speed is reduced to 4/5 of its original speed. Consequently, the train reaches its destination late by 45 minutes. Had it happened after covering 18km more, the train would have reached 9 minutes earlier. Find the speed of the train and the distance of the journey.

27. The square of the hypotenuse is equal to sum of the squares of the other two sides—now state and prove the converse of the above statement.
28. At the foot of a mountain elevation of its summit is θ. After ascending ‘k’ m towards the mountain up an incline of φ, the elevation changes to α. Prove the height of mountain is K( cos φ-sin φ cot α) ÷ cot θ-cot α    

29.   If h be the height, l the slant height and r1 and r2 the radii of the circular bases of the frustum, then prove volume of the frustum is 
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((r12 + r1r2 + r22) h & the total Surface Area is ({(r1 + r2) l + r12 + r22}.
30. Find the missing frequency F of class 49-52, when it is known that the mean is 47.2. Use step deviation method.
	CLASS INTERVAL
	40-43
	43-46
	46-49
	49-52
	52-55

	FREQUENCY
	31
	58
	60
	F
	27
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